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Kalla rpey 0,001 0,050 0,010
rynauw, U3 roeqag > 0,002 0,02 0,021 0,060 0,010 0,005 0,00
Xne6 0,050
KOMMOT M3 cyxothp 0,015 0,010
A610KK 0,100
0,003
NToro Ha 1 4enoBeka 0,050 0,003 0,023 0,021 0,050 0,060 0,100 0,010 0,008 0,010 0,015 0,010 0,003
WToro K Bblfjave 5,45 0,33 2,51 2,29 5,45 6,54 10,90 1,09 0,87 1,09 1,64 1,09 0,33
LleHa 50 20 270 57 40 60 30 60 65 60 75 85 490 110 100 30 150 480 350 60 850 120 950 150 350 180 160 150 200
Ha cymmy: 2725 6,54 100,3 137,34 463,25 3204,6 1090 32,7 130,8 5232 572,25 65,4 49,05

CTommocTb f/aHs 60,99



MEHKO-TPEBOBAHWME
Ha Bblfayy NPOAYKTOB MMNTaHHA
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